. = =
ek Bk
E | B 8231 | 2
o, ..m_oml. w
TRl o
_ = <C S 3 —
- ™ h
| m.z. :
3 . _____ ..m c.
) /—m =
0 - o= >l o= J . M
“ | | ) S g 18 &
N m..nmu m 3
= g
e O > ) £
[ : -
(Jp] ] i ] Q0 ™ o vw C
< 2 A C - L)
3 N o c ©
k 3 N N O = c =
N 3 XN | S £ gl =
© c N~ ‘= 0 - o
c S i c T <
R N % S
< a N O ©
— s ) T >m =l D
S ) N S 2@ 5 2
£ s € »n o O =
O~ _ g8 o 3 E 338 3
== < g e : S
z : 2 [o0] Wd |
wn /—m = - - -
[a BV Ll . s : . cost :
0 — = c o S 2 o© .5 §
‘L - o= .
g =] : : s 8357
~O M,Y = =< m $e m :
DN > L : <
‘ nNnoO S i I w
Ll 1 . i ;
] } PR N L Sls 2 £ 2
5 o @ s 2185 2
5 8 | °ls
S s O avv > .m
\ 53 s m|§ N|S
// = s z z|a
@
F\%&w
<
S .
E 7.
«OQWNN
mmsw\@%
\Ei:mo\n:@ F
—
Wy ez,
Eoo‘wJJC‘
g
[ A0YIAY)
Z_Mwh>¥muw
q9s
—X
\\
whi 0L }'2L _
junjued/ al LSl
@_mam 72,000 km
T
i
s 00021 mm«m_E
N
/wunnuad/ qL1sl F @@
wiszel, | T
“, @ == .
am« AGHIAVH §
‘\@.\%6 mww_ NJS3AL AMS3Q %
yu\ro
<
&//T mmmi TESIN 1S6g
) HAVIROV
=
% 71,873 km
1 IS11b /Centrumy
. Tesinl
% zap [Ceskd TesI
/u
Décw_U\ 9Ly s N/f
: 3
z 722 2
; =
w ]
: ——
: L
o L
. @
()
o
e
=
111/4684
S

IS6p

@
o0

\xmwm.:\c'v_wbmfl\n_._\w_ _

-
W o104

Huleidsyz -

IS11p /Centrum/

Fhgys, \SSR

11/648

Ky Tasin/

\Z4a [Ces!

Jwnauad/ gL sl
eyZ\
oL f‘\y\SSQ' v

WS

1S6b

BIELSKO-BIALA (FD Pa—
CESKY TESIN . [ SHESitt=rentron— .
@ - zneplatnit

OSTRAVA Prumyslové zéna

wy £25'69

(628 300 m

69,527 km
? IS11b /Centrum/

ﬁ 1S18a
b 69,500 km

a=@®aa®%/w

J3ANIL

aosl | it @)
0L %i

HH100569 Bg8LSI %i

\WNN MX

@.,o:wNV km




	Listy a pohledy
	Situace-2.etapa - MÚK 71 a MÚK 72


		2023-08-28T07:54:25+0000




